K1 - Macierze sztywnoSci elementéow kratownicy

elementy = (1,2, 3, 4) EA := 13MN doktadnsé +0.05kN/m
2 9
o = atan T2 =9.462-deg g :=atan = =52.125-deg
T 2-8 2
~y:=E—B—a=28.41266-deg L15:= [ 64 + T m=28.11035m
L3 :=L15-sin (v) =3.85906m L13 :=L15-cos () =7.13341m
X4 :=L13-sin (B) =5.63077m Y4 :=L13-cos (B) =4.37949m
4 8
Y2 = 2m-§=0.66667m Y5 := 2m-§=1.33333m

5
Y3 = 7m-§ =3.88889m

Warunki brzegowe: uxy=0 uyq=0 uy7z =0



Element "1" - blok macierzy sztywnoSci

Lx:=1m = 1.00000m Ly :=Y3-Y2 =3.22222m

MLMzz\/(Lx)2+ (Ly) 2 = 3.37383m

N EA | (Lx)? Lx-Ly | {338.5 1090.8} KN
' (L3 Lx-Ly (Ly)?2 (1090.8) 3514.7 | m
Element "2" - blok macierzy sztywnoSci
Lx:=3m=23m Ly, := Y5 Y3 = —2.555556m
AIA_M::\/(LX)2+(Ly)2:3.940922m
EA | (Lx)2 Lx-Ly 1911.6  -1628.4 | kN
/5&/\:: . Jd = -
()% | LxLy  (Ly)2 (-1628.4) 1387.1 | m
Element "3" - blok macierzy sztywnoSci
LX. = 8m—X4 = 2.369231m Ly, = Y5-Y4 = -3.046154m
MLMzz\/(Lx)2+(Ly)2=3.859055m
N EA | (Lx)? Lx-Ly | {1269.7 —1632.5} KN
W Ly (Ly)2 (-1632.5) 2099.0 | m
Element "4" - blok macierzy sztywnoSci
Lx:=1m=1m Ly.:= 7m—Y5 = 5.666667m
NIW::\/(LX)2+(Ly)2:5.754226m
N EA | (Lx)? Lx-Ly | {68.2 386.6}kN
W Ly (Ly)2 (386.6) 2191.0] m
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J°+)° -)¢ -J)°
Symetria J'+3°+31° -3¢ -J10
MR B S
Symetria 5436 -J° -J?
Symetria J°+3%+) -J3 -
S Cat K5 Ron
Symetria 3104311 -J¢ -Ji
Symetria 3*+37+3° -J8
Symetria: 38+l




